Genuine Accessories developed by MOBIS

www.mobisparts.eu v o

DO281ADEOO
EV9 (MV1, MY24-)
A e
W,
TN\ ol
9
E11*55R02/02*12253 @ » ‘
@ 1 hour
DA alrsr

W) &

Genuine Accessoires developed by MOBIS P1/17 DO281ADEO00#21-09-2023REV00



We expressly point out that assembly not carried
out properly by a competent installer will result in
cancellation of any right to damage compensation,
in particular those arising by virtue of the product li-
ability act.

Contents of these kits and their fitting manuals are
subject to alteration without notice, please ensure
that these instructions are read and fully under-
stood before commencing installation.

CFD

Nous tenons a insister tout particulierement sur le
fait que si ce produit n‘est pas correctement assem-
blé par un technicien compétent, aucun droit de
compensation ne sera recevable en cas de dom-
mages, notamment les droits en vertu de la loi con-
cernant la responsabilité a I'égard des produits.

Le contenu de ce produit, ainsi que des guides de
montage qui les accompagnent est sujet & modifi-
cations sans préavis; lisez attentivement ces in-
structions avant de procéder a l'installation.

<P

Beachten Sie bitte, dass bei Schaden in Folge un-
sachgeméaBen Einbaus samtliche Garantieanspri-
che erléschen.

Das Recht zu Anderungen an Inhalt von Montage-
satz und Einbauanleitung ohne Vorankindigung
bleibt vorbehalten. Lesen Sie vor dem Einbau diese
Anleitung sorgféltig durch.

CE>

Una vez mas, hacemos hincapié en el hecho de
que si este producto no es instalado correctamente
por un técnico cualificado, se anulara cualquier de-
recho de compensacion por posibles dafios, espe-
cialmente los relativos a la legislacién vigente sobre
este tipo de productos.

El contenido de los kits y sus correspondientes ma-
nuales de montaje estan sujetos a posibles modifi-
caciones sin previo aviso. Es importante que lea
con atencion todas las instrucciones y que las en-
tienda perfectamente antes de iniciar la instalacion.

Salientamos expressamente que a montagem nao
realizada por um instalador competente resultara
no cancelamento de quaisquer direitos a compen-
sagdes por danos, particularmente dos resultantes
ao abrigo da lei sobre responsabilidade de produ-
tos.

O conteudo destes kits e os respetivos manuais de
instalacdo estdo sujeitos a alteragdo sem aviso pré-
vio. Certifique-se de que estas instrugbes sao lidas
na integra e compreendidas antes de se iniciar a in-

stalacéo.
>

Vi informiamo che, in caso di installazione scorretta
e/o non eseguita da un installatore competente, il
Cliente perdera ogni diritto a un eventuale rimborso
danni e, specificamente, ogni diritto previsto dalle
leggi sulla responsabilita di prodotto.

| contenuti di questi kit e i relativi manuali di installa-
zione sono soggetti a modifica senza preavviso. Si
raccomanda di leggere attentamente e integral-
mente tali istruzioni e di sincerarsi di averle com-
prese prima di procedere all‘installazione.

N

o
Q>

De installatie moet worden uitgevoerd door een er-
kende, competente installateur. Incorrecte montage
kan leiden tot het vervallen van elk recht op scha-
decompensatie, met name die met betrekking tot
product aansprakelijkheid.

De inhoud van deze kits en de installatiehandleidin-
gen kunnen worden gewijzigd zonder kennisgeving.
Zorg er voor, dat u deze instructies hebt gelezen en
volledig begrijpt voordat u met de installatie begint.

<>

Vi meddelar att montering, som inte gérs fackman-
namassigt, kommer att hava ratten till kompensa-
tion foér skador, speciellt rattigheter enligt lagen om
produktansvar.

Innehallet i dessa satser och deras bruksanvi-
sningar kan komma att &ndras utan férvarning. Van-
ligen I&s dessa anvisningar noga innan du pabérjar
monteringen.

Qo

Vi bemerker at montasje som ikke utferes korrekt,
av en kompetent installater, vil resultere i annulle-
ring av all rett til erstatning for enhver skade, spe-
sielt de som oppstar av arten produktansvar.
Innholdene i disse sett og deres monteringsanvi-
sninger kan endres uten forvarsel. Vennligst pase at
disse instruksjonene leses grundig og er forstatt
innen installasjonen startes.

Det skal understreges, at montering, der udfares af
en ikke-kvalificeret monter, medferer bortfald af
enhver ret til erstatning seerligt i forbindelse med er-
statnings- krav, der matte opsta i kraft af loven om
produktansvar.

Saettenes indhold og monteringsvejledninger kan
aendres uden varsel, og vejledningerne skal derfor
lzeses og forstas, fer monteringen pabegyndes.

G

Jos asennuksen suorittaa joku muu kuin pateva
ammattilainen, tima kumoaa asiakkaan oikeuden
vahingonkorvauksiin, erityisesti sellaisiin, jotka pe-
rustuvat tuotevastuulakiin.

Kiiinnityssarjan sisaltda ja asennusohjeita voidaan
muuttaa siitd etukateen iimoittamatta. Naihin ohjei-
siin tulee perehtya huolellisesti ennen ennen asen-
nuksen aloittamista.

€D

Upozorfiujeme, Ze instalace provedenda nespravné

nebo nekompetentni osobou, rusi veskera prava na
kompenzaci $kod, obzvlasté tech zplsobenych po-
ruchou produktu.

Obsah téchto sad a navody na jejich montaz podié-
haji zménam bez ptedchoziho upozornéni. Prosim,

ujistéte se, Ze jste si pokyny pred instalaci precetly

a dostate¢né jim rozumite.

<4

Pragniemy wyraznie podkresli¢, ze nieprawidtowy
montaz przeprowadzony przez niekompetentne
osoby bedzie podstawa rezygnaciji z ewentualnego
prawa do odszkodowania, w szczegdélnosci
wynikajacych z mocy ustawy o odpowiedzialnosci
za produkt.

Zawartos¢ opisywanych zestawdw i instrukcje ich
montazu moga ulec zmianie bez uprzedzenia;
przed rozpoczeciem instalacji nalezy zapoznac sie
z instrukcjami i upewnic¢ sig, ze zostaty w petni

zrozumiate.

Upozorfiujeme, Ze indtalacia vykonana nespravne
alebo nekompetentnou osobou, rusi vSetky prava
na kompenzéciu $kod, obzvlast tych spésobenych
poruchou produktu.

Obsah tychto sad a navody na ich montaz podlie-
haju

zmenam bez predchad-zajuceho upozornenia. Pro-
sim, uistite sa, Ze ste si pokyny pred instalaciou
precitali a dostato¢ne ste im porozumeli.

Va atragem atentia ca montajul efectuat incorect
sau de catre personal neautorizat duce la anularea
oricarui drept de compensare a eventualelor daune
produse utilizatorului.

Continutul acestor pachete precum si al
instructiunilor de montaj pot fi modificate fara prea-
viz.Va rugam sa va asigurati ca aceste instructiuni
sunt citite si intelese Tnainte de a incepe instalarea.

M3puryHo nocoysame, 4e Npu MOHTUpaHe, KOETO He
ce OCbLLECTBABA NPaBW/IHO OT KOMMETEHTEH
MOHTBOP, LLie MOC/IeABa OTMSAHA Ha BCAKAKBM
npasa 3a 06e3LUeTeHNe 3a HaHECEHW Bpeau, no-
creyuasnHo Teau, NpoM3ThyaL Bb3 OCHOBA Ha 3a-
KOHa 3a OTrOBOPHOCT 3a BpeAn.CbAbpHaHWeTo Ha
Te3u KOMMIEKTU U TEXHUTE MOHTaMHU PbKOBOA-
CTBa MOZA/IEHAT Ha U3MeHeHWA 6e3 Npean3BecTyve.
Mons, yBepeTe ce, 4e MHCTPYKLMUTE ca NpoyeTeHn
1 Hamb/IHO pa36paHu Npeau 3anoysaHe Ha MOH-

TarKHaTa JenHoCT.

Juhime téhelepanu sellele, et ebakorrektne ja eba-
padeva paigaldaja tehtud montaaz tthistab Giguse
esitada kahjunéudeid, eelkdige tootevastutussea-
duse alusel esitatavaid ndudeid.

Nende komplektide ja paigaldusjuhendite sisu voi-
dakse ette teatamata muuta, mistéttu tuleb juhised
enne paigalduse alustamist labi lugeda ja neist taie-
likult aru saada.

Izri¢ito naglasavamo da ¢e montaza koju ne provodi
ovlasteni instalater rezultirati otkazivanjem svih
prava na naknadu $tete, osobito onih koja se te-
melje na zakonskim propisima o odgovornosti za
proizvode.

Sadrzaj ovih kompleta i njihovih priru¢nika za
priévrséivanje podloZni su izmjeni bez prethodne
obavijesti, pazljivo proditajte s razumijevanjem ove
upute prije zapocinjanja s instalacijom.

www.mobisparts.eu

Genuine Accessoires developed by MOBIS

P2/17

DO281ADE00#21-09-2023REV00




o>

Kifejezetten felhivjuk a figyelmét, hogy a nem
megfeleléen, hozzaérté szakember altal végzett
Osszeszerelés a kartéritésre vonatkozé valamennyi
jog elvesztését eredményezi, kilénos tekintettel a
termékgaranciarol szél6 térvények biztositotta jogo-
kra. A készletek és a felhelyezési utmutatodk tar-
talma kiilon értesités nélkil valtozhat, ezért a
szerelés megkezdése elétt mindenképp gondosan
tanulmanyozza at és értelmezze az utasitasokat.

Més 1pasi noradam uz to, ka gadijumos, kad
aplimésanu nebus pareizi veicis kompetents
tehnikis, jebkadas tiesibas uz zaudéjumu atlidzibu
tiks anulétas, jo Tpasi tadas, ko pamato produktu
droSumatbildibas likums.

So komplektu un to uzlimésanas rokasgramatu sa-
turs var tikt mainits bez iepriek$éja pazinojuma,
ladzu, nodroSiniet, lai pirms Tmésanas sakSanas
Sie noradijumi batu izlastti un pilntba izprasti.

Qi

Mes ai$kiai nurodome, kad, jei montavimas néra
tinkamai atliktas kompetentingo montuotojo, nesu-
teikiamos jokios teisés j zalos kompensavimg, ypa¢
tos, kurios iSplaukia i§ gaminio atsakomybés akto.
Siy rinkiniy turinys ir jy jrengimo vadovai gali biti
kei¢iami nepranesus, uztikrinkite, kad prie$ prade-
dant jrengimo darbus bty perskaitytos ir visiskai
suprastos $ios instrukcijos.

N

o

Posebno isti¢emo da ée montaza koju nije obavio
kvalifikovani montaZer, imati za posledicu ponista-
vanje svih prava na obesteéenje, a posebno onog
koje proistice iz odluke o odgovornosti za proizvod.
Sadrzaj ovih kompleta i pripadajuéih uputstava pod-
leZe izmenama bez upozorenja, molimo vas da se
postarate da se ova uputstva procitaju i u potpu-
nosti razumeju pre pocetka instalacije.

Izrecno opozarjamo, da bo montaza, ki ne bo izve-
dena ustrezno s strani pristojnega monterja,
povzrogila razveljavitev kakrsnih koli pravic do
odskodnine, zlasti tistih, ki izhajajo iz zakona o od-
govornosti za izdelek.

Vsebina kompletov in priro€nikov za vgradnjo je
predmet sprememb brez predhodnega obvestila.
Prepri¢ajte se, da bodo izvajalci pred pri¢etkom
vgradnje navodila prebrali in razumeli.

Haronowyemo Ha Tomy, Lo po6OTH MatoTb 34iK-
CHIOBAaTUCA HANIEKHUM HYMHOM | BUK/IOYHO BMOBHO-
BaXeHUM BUKOHaBLeM. B iHwomy BunagKy
6yAb-AKi NpaBa Ha BiALWKoAyBaHHA 36UTKIB, 30-
Kpema Ti, AKi BUHWKaloTb 3rigHo i3 3aKOoHOAaB-
CTBOM NpPO BiANOBIAA/IbHICTb BUPOGHMKA 3a AKICTb
NPOAYKLi, BBaKaloTbCA HeAIMCHUMM.

BMiCT LMX KOMNNEKTIB i BiANOBIAHI IHCTPYKLUi MO-
HYTb 6YTH 3MiHEHI 63 nonepeaKeHHs. He pos-
noynHamTe poboTH, AKLLO BU HE NPOYUTANN Ta HE
3pO3yMi/I MOBHOIO MIpOIO Lii iHCTPYKLi.

<4

Cee>

Vid bendum gagngert & ad ef samsetningin er ekki
almennilega gerd af adila sem er med videigandi
pjalfun getur rétturinn & skadaboétum vegna
skemmda, sérstaklega skadabétum vardandi reglur
um voruabyrgd, ordid dgildur.

Innihald settanna og uppsetningarleidbeiningar
geta breyst an fyrirvara. Vinsamlegast tryggié ad
pessar leidbeiningarnar séu lesnar og fullur skilnin-
gur til stadar adur en uppsetning hefst.

Oa TPETEL VA TOVIOTEL OTL CUVAPHOAGYN O TIOU SV
TIPAYHATOTIOLETAL OWOTA KAL ATTO ELSIKEUUEVO EY-
Kataotatn odnyei oe akUPWON TWV OTIOWV SL-
Kalwpdtwy arodnpiwong évavti {nuiag kat
1810iTEPA AUTWV TIOU TIPOKUTITOUV OUNdWVA LE TO
VOO Tiepi UBUVNG TIPOTIOVTOG.

Ta ePLEXOHEVA AUTWYV TWV KIT KAl T EYXELPISLIa
TOTIOBETNONG UTIOKEIVTAL OE AAAAYEG XWPIG TIPOEL-
Soroinon. BeBawBeite 6TL 0 0dnyieg auteg €xouv
SlaBacTel Kal €X0uV Yivel amoAUTWS KATAVONTES
TIPOTOU EEKIVIOETE TNV EYKATACTAOM.

O6paTnTe BHUMaHWe, YTO NPU NOBPEKAEHUAX,
BO3HMKLUMX B €3y/IbTaTe HeNpaBUIbHOrO MOHTAKA,
MCTEKAKOT BCE BUAbI rapaHTUK, B YACTHOCTH, Ka-
catoLmecs 3aKoHa, PerymMpyoLEero OTBETCTBEH-
HOCTb 3@ Ka4ecTBO NPOAYKLMWH.

MponsBoauTENb COXpaHAET 3a CO60M NPaBo Ha U3-
MEHEHWE COAEPKaHWA MOHTAXKHOIO KOMM/IEKTa U
MHCTPYKLMM MO yCTaHOBKe 63 NpeaBapuUTEbHOTO
yBEAOMNEHUA. BHUMATENBHO NPOYMTANTE UHCTPYK-
LMIO Nepez, HaYaioM yCTaHOBKM.

www.mobisparts.eu

Genuine Accessoires developed by MOBIS

P3/17

DO281ADE00#21-09-2023REV00




x — = =

6x M14x1.5x60
4x M14x55

2x M6x20

4x M6x16

L<LA Genuine Parts

t
Gl
:MJ ’

{
|

|
=
A o

Genuine Accessoires developed by MOBIS

DO281ADE00#21-09-2023REV00



=

Global Service Way

@)

Global Service Way

Genuine Accessoires developed by MOBIS P5/17 DO281ADEO00#21-09-2023REV00




Genuine Accessoires developed by MOBIS P6/17 DO281ADEO00#21-09-2023REV00




) .w/_’f _’ 4\
\\

NI

v
/ !

‘l‘\“

/

h 3x M14x1.5x60

(C—

m 3x M14

7

@
T
it
S s
) é_—,’

e

i

W)
I

/\» / \ \.\7

—

A e 17
WA — F

§ =
T

DO281ADE00#21-09-2023REV00

P7/17

Genuine Accessoires developed by MOBIS



Baseline / standard

Fig 6
ADEO00#21-09-2023REV00




GT-Line

Cut out"r 60

N
o C TR -
—r—

center

Genuine Accessoires developed by MOBIS P9 /17 DO281ADEO00#21-09-2023REV00




L
P
i

i 4x M14x55

€ —

IS 3
9

5 Dl 2

V]
E=
Bl

o

- -

O r— 1=
1 M14x1.5 > 150Nm

E'Gj[g]

2 M14-> 175Nm

2 =
@ —_ =
2 — | =
= = 2 == °
5
: :
. 2 o | o S 0 c o
a N ] e 2 @ g C
2 <
. . = © Y
NG A e} <A~ )
© ©
1@ ) op =
s (@] c o
[EAS = = = @%\m T
Fig 9
Genuine Accessoires developed by MOBIS P10/17 DO281ADEOQ0#21-09-2023REV00



\

|
I
NN
i ‘ i§>
) ==
el )/Q | TH
n 2x M6 " “

M6-> 11Nm

Fig 10

DO281ADE00#21-09-2023REV00

Genuine Accessoires developed by MOBIS P11/17



\

7/
1
N =/

Genuine Accessoires developed by MOBIS

P12/17

DO281ADE00#21-09-2023REV00



(&sw) ||

Global Service Way

4x

k 4x M6x16

E(j:r_[g]

2 M6-> 3Nm

((©

AL

“‘.‘ﬂl/—lﬂ!ﬂ - e @\\\ﬁ.ﬁ /

Fig 14

DO281ADE00#21-09-2023REV00

Genuine Accessoires developed by MOBIS P13/17



Genuine Accessoires developed bymMmoBls  ~ P14/17




OFN

Modelname, year of introduction KIA EV9 2024 ->
. . . Vehicle Identification Number (VIN)
Vehicle type, Variant, Version MV1 22222 222222
2221?21?1?121212[?1?]22222?
Type name 40253 Class of device A50X
MOBIS Part number DO281ADEO00O
Approval number E11*55R02/02*12253 ECE Regulation N°55 / ECE-R55
D-value 14kN
!
Max. static mass on coupling ball j 125kg {ﬁ <1
Max. towable trailer mass ‘@ 2500 kg Consult vehicle manual!

L - o

max

A mph
s N
(% == max. 75kg m ﬁ m
max. 3 max. max. max.
< 1 -
Z 1
E823055001 = 13,5kg @ - )
IR ol | |

Genuine Accessoires developed by MOBIS P15/17 DO281ADEOQ0#17-11-2023REV00



Genuine Accessoires developed by MOBIS P16/17 DO281ADEOQ0#17-11-2023REV00



"05591S 0ARISOdSIP 19P INOIZNILNNVIN @ OSN,)JNS 0]0J19A 19P 9]USIN,) OIRWIOJUI JSAR [P SJ])0Ul BIRIYDIP IS

YWHI4 ® OUEWIL 0]0219A0]NE NS 03B)|RISUI 018]S 9 03RDIpUI e1dOS 0J2e3Ie Ip 0ARISOdSIP ||

:02]UB2I3W 02BJR IP OAIRISOdSIP 93UaNBIS |1 05535 0ARISOSIP 19P J03INIISOD 9P AU 0]0IDA ]3P 3J0JINIISOD 3P €IS [UOIZIDSaId )|e
JIWJ0JUO Ul P2 £333JJ03 BJIIUBL UJ 033UOW J2AE IP BJRIYDIP B33Id BIII503105 €] :0IDDVLINOW OL13YH0D 1d INOIZVHVIHIIA

oanvTiod 1l ¥43d JAVI1IdWOD va

(B3 ur) ®d1130W e3P XB 3)IgRIYdIOWIY BSSRIN =)
(B ur) @1130W B))3p "XeIN BAISS3]AWOD) BSSBIN =] :BAOP
O+ 1 :(3)1geIydI0W1I PSSP B) 9JBSSP)I9P OlJES
NJvL s 18600°0 x%u a -S929U 95) e|NWJI0oJ 93uanbas ey ale)idwod ‘olbbejuow e a1apad0ld 8pualul IS IND NS BINJISA B)INS
3UOIZB)|eISUI||B ‘SSY 3DT NN ewJou e 01e60]o0wo oules] Ip 0ARISOdSIp |ap B118UOPI,) 8Jed1J1JaA Jad

0]0219A03NE ,||3P SUOIZBI02JID IP BJJED IPAA :3)1qeIyDJoWlI essep
(S8/50/82'W'@ Ipan) 2J01adns
WO § 1B 3JBPUOI0IIR™ = WD O/ + (321130W) OTODIFA INOIZVIODYD 1P V.LHYD 8J8pan WSH'z S 1'y'L @ ueaese) Jad a)igeiydiowl ezzaybie

ByszL 'S "Xew 31ed1319/ 0d1e)

N L ' 9JOJeA
€5221%20/20455+113 :auoizebojowO
X-05V :0dde33e Ip odi) @ 3sse)D)

(8888L e LAW :9)euolzuny odi|
<-Y20CAW 6N VI :|0DI3A0INE Jad
€520 :0diy oulesy Ip oanisodsiq

DO281ADE00#17-11-2023REV00

P17/17

Genuine Accessoires developed by MOBIS



